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imEXRE RiLKRZE RRERKRE EHEXRF RBKRE KIRKZ S KEE
gL | 1B Bz | 152 Mg | Ba | B | BA | B | 85 | B | BA | B | B
T ARy — 1 iz 10 3 fi 6 4 fif 4 5 fi 3 7 £ 1 2 fi 8 6 fiI 2
RAF— &m &m 3 fi 6 14z 10 2 i 8 4 i1 4 5 i 3
iz 5 fi 3 3 fi 6 4 i 4 14 10 2 i 8 7 4L 1 6 i 2
Bl 14z 8 6 i 1 2 i 6 4 i 3 5 fif 2 EZEERLZL 3 i 4
eS| 6 fir 1.5 3 fi 2 fi 8 14 10 3 {i 5 5 i 3 6 i 15
ANRAhR— L 5F| 34 6 1 i 10 4 i 4 2 fi 8 741 1 5 fi 3 6 fi 2
TF| 2 8 7 L 1 4 i 4 6 i 2 1 4L 10 5 fiL 3 3 fiL 6
EPIS 6 fiL 2 5 fiL 3 3 fiL 6 74 1 4 {1 4 2 fiL 8 1 4L 10
DRFLEE 7 fi 1 4 i 4 14 10 6 i 2 2 i 8 3 i 6 5 i 3
e BF| 74 1 3 fiL 6 6 fi 2 14z 10 5 fif 3 2 fi 8 4 fi 4
BRXT=X -
TF| 3 4 5 fiL 2 &m 4 {1 3 1 4L 8 2 fiL 6 ZAEARGL
i BF| 514 3 6 i 2 14 10 7 iz 1 4 i 4 2 i 8 3 i 6
TF| 51 3 4 i 4 6 fiL 2 2 i 8 3 i 6 1 4L 10 7 4L 1
sl BF| 514 3 6 i 2 3 fi 6 7 iz 1 2 i 8 14 10 4 i 4
TF| 4 4 2 fiL 8 3 fiL 6 5 {3 3 6 i 2 7 4L 1 14 10
Kik BF| 51 3 6 i 2 2 fiL 8 7 6L 1 14 10 3 fiL 6 4 fiL 4
TF| 1L 10 5 fiL 3 3 fiL 6 7 6L 1 4 i 4 2 fiL 8 6 fiL 2
BF| 71 1 14 10 3 fiL 6 5 fiL 3 2 fiL 8 4 fiL 4 6 fiL 2
=25
ZF| 6L 2 4 i 4 5 fiL 3 14 10 3 fiL 6 2 fiL 8 7 4L 1
S55a% BF| 71 1 2 i1 8 4 i 4 6 fiL 2 3 fiL 6 14 10 5 fiL 3
ZF| 6L 2 5 fiL 3 14 10 2 fiL 8 3 fiL 6 4 fiL 4 7 4L 1
AN—K— L BF| 71 1 14 10 4 i 4 3 fiL 6 5 fiL 3 6 fiL 2 2 fiL 8
TF| 1L 10 5 fiL 3 6 fiL 2 4 i 4 2 fiL 8 7 4L 1 3 fiL 6
B 5 i 6 i 2 4 fif 4 7 L 1 3 fiL 6 2 i 8 1 £ 10
o BF| 24 8 4 i 4 5 fiL 3 7 6L 1 6 fiL 2 3 fiL 6 14 10
INFEURY
TF| 4% 4 6 i 2 14 10 5 fiL 3 7 6L 1 3 fiL 6 2 fiL 8
AEE X Bk MED=HFEHPIE
NURR—L 74 | 1 et | 2 |34 [ 6 | a4 [ 4 | 5@ | 3 | 2@ | 8 | 14 | 10
Jzoivy B ]l 3 fi 3 1 iz 6 B oilzyA( 2 i 4 4 i1 2 5 i 1
A BF| 1 10 6 fiL 2 4 i 4 7 6L 1 2 fiL 8 5 fiL 3 3 fiL 6
TF| 51 3 6 fiL 2 3 fiL 6 4 i 4 14 10 7 4L 1 2 fiL 8
HHE ZAEELZL 2 i 6 3 fi 4 14 8 5 i 2 4 i1 3 6 i 1
7T—Fz)— 4 fi1 4 5 fiL 3 2 fiL 8 7 6L 1 3 fiL 6 14 10 6 fiL 2
JIRF= BF| 24 8 5 fiL 3 6 fiL 2 7 6L 1 14 10 4 fi 4 3 fiL 6
TF| 2 4 14z 6 BZEEAHLZL 5 fiL 1 EZEEAGZL 3 fiL 3 4 fi 2
e F&m afr | 4 [ s [ 3 [om [ 8 [sm ] 6 [ewm | 2 | 1 [ 10
YIhR—IL MRD=HFFFEH L
SEIE 2 fi 8 4 i 4 7 iz 1 6 i 2 5 i 3 3 i 6 14 10
a3 BF| 71 1 5 fiL 1 i 10 4 i 4 6 fiL 2 2 fiL 8 3 fiL 6
TF| 74 1 14z 10 5 fiL 3 3 fiL 6 4 i 4 6 fiL 2 2 fiL 8
(%32 2 fi 8 7 i 1 14 10 5 i 3 3 i 6 4 i1 4 6 i 2
JKER A EARGL 6 i 1 1 4 8 5 {i 2 3 i 4 4 iz 3 2 i 6
=N CI=1 150.5 161 209 160 206 201 191.5
BEIESL 74 5 fiL 14 6 i 2 i 34 4 i1




